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1 State one advantage of an hierarchical organisational structure. (1 mark)

(Total marks 1)

2 a) Nametheregulations relating to working hours. (1 mark)

b) State two of the key points an organisation will have to consider. (2 marks)

(Total marks 3)

3 Give three reasons for management advocating staff have a good work/life balance. (3 marks)

(Total marks 3)

4 Describe one driver for change in a business. (3 marks)

(Total marks 3)
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5 Identify the principle of communication that stipulates how an organisation’s
documentation is presented. (1 mark)

(Total marks 1)

6  Describe one of the techniques used in conflict management. (2 marks)

(Total marks 2)

7  Describe whatis meant by each of the following.
a) Internal customer. (2 marks)

b) Businessto business (B2B). (2 marks)

(Total marks 4)

8  State one method of verbal communication and two methods of
non-verbal communication. (3 marks)

(Total marks 3)

-+ 3 See next page +
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9  Afriend setting up a hairdressing business asks you for advice on the type of legal
business entity they should consider. Explain two suitable types of business entity. (6 marks)

(Total marks 6)

10 Describe the impact of the legal requirement for Health and Safety training on the
a) employer (2 marks)

b) employee. (2 marks)

(Total marks 4)
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11 Youhave been asked to handle a customer complaint.
a) Describe why building a rapportisimportantin handling the complaint.

b) Identify the type of questioning to be used when clarifying understanding of the
complaint, stating why itis used.

c) Describe why itisimportant to maintain detailed records in complaint handling.

12 Explain why itis important to show respect to your customers.

15 June 2018

(2 marks)

(2 marks)

(2 marks)

(Total marks 6)

(2 marks)

(Total marks 2)

See next page
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13 a) Describe how Finance, Resources and Market Research would be involved in an
organisation’s expansion plans. (6 marks)

b) Identify one other requirement for business development. (1 mark)

(Total marks 7)
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14 Explain three ways in which customer rapport can be built. (6 marks)

(Total marks 6)

+ 7 See next page +
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15 Describe two reasons why
a) itisimportant thatrecords are kept on the outcomes of calls (4 marks)

b)  callmonitoringis required. (4 marks)

(Total marks 8)
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16 a) Define aflat organisational structure. (2 marks)

b) Describe one advantage and one disadvantage of this type of structure. (4 marks)

(Total marks 6)

17 Your organisation is moving to a new town closing its present operation. As your
organisation is a large employer, the move will have an effect on local communities.

Discuss the plan your organisation should put in place to effectively move its
operation to the new location 200 miles away, taking into account its business
and social responsibilities. (15 marks)

-+ 9 See next page +
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Question 17 continued

(Total marks 15)

+ 10 End of assessment +



